

210-1455 Youville Drive Orleans, On K1C 6Z7 Phone: 613-837-1104

Vendor:

MAGENTA EXTERIOR SOLUTIONS INC. 15 FITZGERALD RD SUITE # 200 NEPEAN, ONTARIO K2H 9G1

Ship To:

Site:

DEERFIELD VILLAGE PHASE 2

BLOCK M Lot/Unit:

Model: Civic:

TRANQUIL STREAM PRIVATE

tel: fax: 613-315-2666

contact:

TROY SAIKALEY TROY@MAGENTACONSTRUCTION.COM

ORDER DATE Feb 24, 2022	CHG. ORDER DT.	CANCEL DATE	RESPONSIBILITY ARIEL	VENDOR # M24	TERMS NET 30 DAYS	
Comments/Special In	Comments/Special Instructions:					
			3.			

JOB/LOT/COST	REFERENCE	Description	QTY ORDERED	UNIT PRI	CE EXT	ENSION
042-M69-407	CODE 407	LABOUR & MACHINERY TO COMPLETE PARTIALLY FINISHED BLOCK M69	1.0000	1,633.3400	000	1,633.34
042-M70-407	CODE 407	LABOUR & MACHINERY TO COMPLETE PARTIALLY FINISHED BLOCK M70	1.0000	1,633.3400	000	1,633.34
042-M71-407	CODE 407	LABOUR & MACHINERY TO COMPLETE PARTIALLY FINISHED BLOCK M71	1.0000	1,633.3300	000	1,633.33
042-M72-407	CODE 407	LABOUR & MACHINERY TO COMPLETE PARTIALLY FINISHED BLOCK M72	1.0000	1,633.3300	000	1,633.33
042-M73-407	CODE 407	LABOUR & MACHINERY TO COMPLETE PARTIALLY FINISHED BLOCK M73	1.0000	1,633.3300	000	1,633.33
042-M74-407	CODE 407	LABOUR & MACHINERY TO COMPLETE PARTIALLY FINISHED BLOCK M74 -	1.0000	1,633.3300	000	1,633.33
1	I. A		Subtotal			9,800.00
////			нѕт			1,274.00

ORDER TERMS AND CONDITIONS

- 1. INVOICES must bear exact same prices and terms or authorization for changes must be received from our company in writing prior to shipping.
- 2. The right is reserved to cancel all or part of this order if not delivered within the time specified.
- 3. Packing slips must accompany all shipments.
 4. In the event of interruption of our business in whole or in part by reason of fire, flood, windstorm, earthquake, war, strike, embargo, acts of God, governmental action, or any causes beyond our control, we shall have the option of cancelling undelivered orders in whole or in part.
- 5. Acceptance of this pirchase order, or shipment of it will constitute an agreement to all of its specifications as to terms, delivery and prices. 6. No deliveries accepted after 4:00 pm or on weekends.

Authorized Signature

Total Order Value

11,074.00



Magenta Exterior Solutions Inc.

200-15 Fitzgerald Rd
Nepean ON K2H 9G1
troy@magentaconstruction.com
https://www.magentaconstruction.com
GST/HST Registration No.: 714977535

Estimate

ADDRESS
VALECRAFT HOMES
1455 Youville Drive
Orleans Ontario K1C 6Z7

ESTIMATE

1083

DATE

11/02/2022

Accepted By

Accepted Date

Labour	Deerfield Village Phase 1 Block M - Labour and Machinery to complete partially finished Block.	HST	ON	1	9,800.00	9,800.00
			SubTotal Sales Ta			9,800.00 1,274.00
			Total:			\$11,074.00
*****	*******	Tax	Summary	****	*****	******
	Rate			Та	ax	
	HST (ON) @ 13%		1,27	4.00		

Purchase Orders

From:

Jeff Jasmann

Sent:

Thursday, February 24, 2022 7:49 AM

To:

Alex Beckett; Purchase Orders

Subject:

Fwd: Estimate 1083 from Magenta Exterior Solutions Inc.

Attachments:

Estimate_1083_from_Magenta_Exterior_Solutions_Inc.pdf

Sent from my iPhone

Begin forwarded message:

From: "Magenta Exterior Solutions Inc." <quickbooks@notification.intuit.com>

Date: February 11, 2022 at 2:27:11 PM EST **To:** Jeff Jasmann < jjasmann@valecraft.com>

Subject: Estimate 1083 from Magenta Exterior Solutions Inc.

Reply-To: troy@magentaconstruction.com

Dear VALECRAFT HOMES,

Please review the estimate below. Feel free to contact us if you have any questions. We look forward to working with you.

Have a great day,

Magenta Exterior Solutions Inc.

----- Estimate -----

200-15 Fitzgerald Rd Nepean ON K2H 9G1 +1 613 315 2666

https://link.edgepilot.com/s/41c20748/GLj1kfo77U63UXNsHkS9nQ?u=https://www.magentaconstruction.com/

Estimate #:

1083

Date:

11/02/2022

Exp. Date:

\$11,074.00

Address:

VALECRAFT HOMES 1455 Youville Drive Orleans Ontario K1C 6Z7

Activity

Description

Sales Ta

Qty

Rate

Amount